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CLASS : 10th (Secondary) Code No. 2705 
Series : Sec. M/16 
Roll No. 

efJe%eeve 
SCIENCE 

 [ Physics, Chemistry and Life Science ] 

(Academic) 

1st Semester 

[ efnvoer SJeb Deb«espeer ceeOÙece] 
 (Hindi and English Medium) 

( Only for Re-appear Candidates ) 

(Morning Session) 

meceÙe : 2½ IeCšs ]    [ hetCeeËkeâ : 60 
Time allowed : 2½ hours ] [ Maximum Marks : 60 

• ke=âheÙee peeBÛe keâj ueW efkeâ Fme ØeMve-he$e ceW cegefõle he=‰ 15 leLee ØeMve 18 nQ~ 
Please make sure that the printed pages in this 

question paper are 15 in number and it contains 

18 questions. 
• ØeMve-he$e ceW oeefnves neLe keâer Deesj efoÙes ieÙes keâes[ vecyej leLee mesš keâes Úe$e 
Gòej-hegefmlekeâe kesâ cegKÙe-he=‰ hej efueKeW~ 
The Code No. and Set on the right side of the 

question paper should be written by the candidate 

on the front page of the answer-book. 
• ke=âheÙee ØeMve keâe Gòej efueKevee Meg™ keâjves mes henues, ØeMve keâe ›eâceebkeâ DeJeMÙe 
efueKeW~ 
Before beginning to answer a question, its Serial 

Number must be written. 

SET : A 
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• Gòej-hegefmlekeâe kesâ yeerÛe cesb Keeueer hevvee/hevves ve ÚesÌ[W~ 
Don’t leave blank page / pages in your answer-book. 

• Gòej-hegefmlekeâe kesâ Deefleefjkeäle keâesF& DevÙe Meerš veneR efceuesieer~ Dele: 
DeeJeMÙekeâleevegmeej ner efueKeW Deewj efueKee Gòej ve keâešW~ 
Except answer-book, no extra sheet will be given. 
Write to the point and do not strike the written 
answer. 

• hejer#eeLeea Dehevee jesue veb0 ØeMve-he$e hej DeJeMÙe efueKeW~ 
Candidates must write their Roll Number on the 
question paper. 

• ke=âheÙee ØeMveeW keâe Gòej osves mes hetJe& Ùen megefveefMÛele keâj ueW efkeâ ØeMve-he$e hetCe& 
Je mener nw, hejer#ee kesâ Ghejevle Fme mecyevOe ceW keâesF& Yeer oeJee mJeerkeâej 
veneR efkeâÙee peeÙesiee~ 

 Before answering the questions, ensure that you 

have been supplied the correct and complete 

question paper, no claim in this regard, will be 

entertained after examination.  

meeceevÙe efveos&Me : 
General Instructions : 

 (i)   Ùen heÇMve-he$e leerve KeC[eW : `De' (Yeeweflekeâ efJe%eeve);                 
`ye' (jmeeÙeve efJe%eeve); SJeb `me' (peerJe efJe%eeve) ceW efJeYekeäle nw~  

   This question-paper is divided into three 

Sections : 'A' (Physics); 'B' (Chemistry); and 

'C' (Life Science). 

 (ii)  meYeer KeC[ DeefveJeeÙe& nQ~ 

   All Sections are compulsory. 
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 (iii) yengefJekeâuheerÙe heÇMveeW kesâ efoÙes ieÙes Ûeej efJekeâuheeW ceW mes mener efJekeâuhe 
keâe ÛeÙeve keâj GvnW Deheveer Gòej-hegefmlekeâe ceW efueefKeS~ 

   Select the correct option out of the given 

four options of the multiple choice questions 

and write them in your answer-book. 

 (iv) Ún Debkeâ  kesâ oerIe& Gòej Jeeues heÇMveeW ceW Deebleefjkeâ efJekeâuhe keâe 
heÇeJeOeeve nw~ Ssmes heÇMveeW ceW mes Deehekeâes efoÙes ieÙes efJekeâuhe ceW mes 
kesâJeue Skeâ ner heÇMve keâjvee nw~ 

   Internal choice has been provided in long 

answer type questions of six marks. You 

have to attempt only one question of the 

given choice. 

 (v) ØelÙeskeâ ØeMve kesâ Debkeâ Gmekesâ meeceves oMee&Ùes ieÙes nQ~ 

   Marks of each question are indicated against 

it. 

KeC[ – De 

(Yeeweflekeâ efJe%eeve) 

SECTION – A 

    (Physics)  [ Marks : 20 

  1. (i) heeveer mes Yejs yeerkeâj keâer leueer ceW heÌ[e efmekeäkeâe efkeâmekesâ keâejCe 

GYeje ngDee neslee nw ?   1 

  (a) mecepeve (b) ØekeâerCe&ve 

  (c) efJe#esheCe (d) DeheJele&ve 
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  Due to which process coin placed in the 

bottom of a beaker fill with water seems 

raised ? 

  (a) accommodation (b) scattering 

  (c) dispersion (d) refraction 

 (ii) efkeâmeer ueWme keâer #ecelee P keâe met$e keäÙee nw ?   1 

  (a) 
v

u
 (b) 

f

1
 

  (c) 
f

v
 (d) 

u

f
 

  What is the formula for power P of a lens ? 

  (a) 
v

u
 (b) 

f

1
 

  (c) 
f

v
 (d) 

u

f
 

 (iii) DeheJele&veebkeâ keâer FkeâeF& keäÙee nesleer nw ?   1 

  (a) ceeršj (b) «eece 

  (c) keâesF& veneR (d) [eÙeeshšj 
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  What are the unit of refractive index ? 

  (a) Meter (b) Gram 

  (c) None (d) Dioptre 

 (iv) meesuej mesue ceW ............ Tpee& keâes efJeÅegled Gâpee& ceW ™heebleefjle 

efkeâÙee peelee nw~   1 

  In a solar cell ........... energy is converted 

into electrical energy.  

  2. Gâpee& kesâ oes  veJeerkeâjCeerÙe œeesleeW kesâ veece efueKeW~ 2 

 Name any two renewable sources of energy. 

  3. lejbie Gâpee& keäÙee nesleer nw ? 2 

 What is wave energy ?  

  4. 2 mesceer uecyee efyecye 10 mesceer heâeskeâme otjer kesâ Gòeue ueWme kesâ cegKÙe De#e 

kesâ uecyeJele jKee nw~ efyecye keâer ueWme mes otjer 15 mesceer nw~ Øeefleefyecye keâer 

efmLeefle Je meeFpe yeleeSB~ 2 

 2 cm long object is placed before a convex lens of  

10 cm focal length at a distance of 15 cm in 
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perpendicular to optic axis. What will be position 

and size of the image formed ? 

  5. keâeBÛe kesâ DeeÙeleekeâej muewye ceW DeheJele&ve keâes efÛe$e meefnle oMee&SB Je hetCe& 

efJeJejCe oW~ 4 

 Show the process of refraction through a glass 

slab with the help of diagram in detail. 

  6. efvekeâšÂef° oes<e (ceeFDeesefheÙee) keäÙee neslee nw ? Fmes kewâmes "erkeâ efkeâÙee 

peelee nw ? DeejsKeeW mes mecePeeSB~ 6 

 What is near-sightedness or Myopia ? How to 

correct it ? Explain with diagram. 

DeLeJee 

OR 

 ceeveJe ves$e kesâ efJeefYevve YeeieeW kesâ keâeÙeeX keâe efJeJejCe veeceebefkeâle efÛe$e Éeje 

mecePeeSB~ 6 

 Explain the functions of various parts of human 

eye by drawing labelled diagram. 
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KeC[ – ye 

(jmeeÙeve efJe%eeve) 

SECTION – B 

   (Chemistry) [ Marks : 20 

 7. (i) 2PbO + C → 2Pb + CO2  ceW efkeâmekeâe DeheÛeÙeve nes jne 

nw ?    1 

  (a) Pb keâe  

  (b) PbO  keâe 

  (c) Pb Je PbO oesveeW keâe  

  (d) efkeâmeer keâe veneR 

  In 2PbO + C → 2Pb + CO2, which one is 

reduced ? 

  (a) Pb  

  (b) PbO 

  (c) both Pb and PbO  

  (d) None 
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 (ii) 2 32324 SOSOOFeFeSO ++→  nw : 1 

  (a) mebÙeespeve DeefYeef›eâÙee  

  (b) efJeÙeespeve DeefYeef›eâÙee 

  (c) T<ceeMees<eer  

  (d) (b) SJeb (c) oesveeW 

  2 32324 SOSOOFeFeSO heat
++ →  is : 

  (a) Combination Reaction 

  (b) Decomposition Reaction 

  (c) Endothermic Reaction 

  (d) Both (b) and (c) 

 (iii) 33 NaNOAgClNaClAgNO +→+  nw : 1 

  (a) mebÙeespeve DeefYeef›eâÙee  

  (b) efJemLeeheve DeefYeefkeÇâÙee 

  (c) efÉefJemLeeheve DeefYeefkeÇâÙee  

  (d) js[e@keäme DeefYeef›eâÙee 

Gâ<cee 

www.mseducationtv.com



 ( 9 ) 2705/(Set : A) 

2705/(Set : A)  P. T. O. 

  33 NaNOAgClNaClAgNO +→+  is : 

  (a) Combination Reaction 

  (b) Displacement Reaction 

  (c) Double displacement Reaction 

  (d) Redox Reaction 

 (iv) keâe@heâer keâer heÇke=âefle ............... nw~  1 

  (a) DecueerÙe (b) #eejerÙe 

  (c) Goemeerve (d) keâesF& veneR 

  Coffee is ............... in nature. 

  (a) Acidic  (b) Basic 

  (c) Neutral (d) None  

  8. efvecveefueefKele DeefYeefkeÇâÙee kesâ efueS meblegefuele jemeeÙeefvekeâ meceerkeâjCe efueKeW : 

 SsueggceerefveÙece + keâe@hej keäueesjeF[ → SsuegceerefveÙece keäueesjeF[ + keâe@hej  
  2 

 Write a balanced chemical equation for following 

reaction : 

 Aluminium + Copper Chloride → Aluminium 

   Chloride + Copper 
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  9. meb#eejCe efkeâmes keânles nwb ? DeeÙejve kesâ meb#eejCe ceW efkeâme heÇkeâej keâer 

jemeeÙeefvekeâ DeefYeefkeÇâÙee nesleer nw ? 2 

 Define corrosion. What type of chemical reaction 

is involved in corrosion of iron ? 

10. Oeeleg kesâ meeLe Decue keâer DeefYeefkeÇâÙee nesves hej meeceevÙele: keâewve-meer iewme 

efvekeâueleer nw ? Skeâ  GoenjCe oW~ Fme iewme keâer GheefmLeefle keâer peeBÛe 

Deehe kewâmes keâjWies ? 2 

 Which gas is usually liberated when an acid 

reacts with the metal ? Give one example. How 

you will test presence of gas ? 

11. (a) ceOegcekeäKeer kesâ [bkeâ ceejves mes keäÙee neslee nw ? Fmekeâe efveJeejCe keäÙee 

nw ?    2 

  What happens during a bee sting ? What is 

its remedy ? 

 (b) vesšue (efyeÛÚt) kesâ [bkeâ ceejves mes keäÙee neslee nw ? Fmekeâe efveJeejCe 

keäÙee nw ?   2 

  What happens during a nettle sting ? What 

is its remedy ? 
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12. efvecveefueefKele Yeeweflekeâ iegCeOeceesË kesâ DeeOeej hej ‘OeelegDeeW Je ‘DeOeelegDeeW’ ceW 

Devlej keâerefpeS : 6 

 (a) efmLeefle, 

 (b) Ûecekeâ, 

 (c) keâ"esjlee, 

 (d) Ievelee, 

 (e) Ûeeuekeâlee, 

 (f) DeeIeeleJeOÙe&lee Je levÙelee~ 

 Write distinction between 'metals' and 'non-

metals' on basis of following Physical Properties :  

 (a) Existence, 

 (b) Luster, 

 (c) Hardness, 

 (d) Density, 

 (e) Conductivity, 

 (f) Malleability and ductility. 
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DeLeJee 

OR 

 (a) efJeÅegled DeheIešveer heefj<keâjCe keâe efÛe$e meefnle JeCe&ve keâerefpeS~ 3 

  Explain electrolytic refining with diagram. 

 (b) efceße Oeeleg keâes efkeâme heÇkeâej lewÙeej efkeâÙee peelee nw ? oes  GoenjCe 

oerefpeS~   3 

  Give method of preparation of an alloy. Give 

two examples. 

KeC[ – me 

(peerJe efJe%eeve) 

SECTION – C 

    (Life Science)  [ Marks : 20 

13. (i) huewp]ceesef[Ùece ceW peveve efkeâmekesâ Éeje neslee nw ? 1 

  (a) efÉKeb[ve  

  (b) yengKeb[ve 

  (c) cegkegâueve  

  (d) Ghejeskeäle meYeer 
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  Reproduction in Plasmodium takes place 

through : 

  (a) Binary fission  

  (b) Multiple fission 

  (c) Budding  

  (d) All of the above  

 (ii) Je=keäkeâeCeg kesâ heÇejbefYekeâ efvemÙebo ceW keäÙee neslee nw ? 1 

  (a) iuetkeâes]pe  

  (b) Deceervees Decue 

  (c) ueJeCe  

  (d) Ghejeskeäle meYeer 

  The initial filtrate from the nephron have : 

  (a) Glucose  

  (b) Amino acids 

  (c) Salts  

  (d) All of the above 
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 (iii) hegâheähegâme mes ®efOej keâneB hej Deelee nw ? 1 

  (a) oeÙeeB Deefuebo  

  (b) yeeÙeeB Deefuebo 

  (c) oeÙeeB efveueÙe  

  (d) yeeÙeeB efveueÙe 

  Blood from the lungs comes into : 

  (a) Right atrium 

  (b) Left atrium 

  (c) Right ventricle 

  (d) Left ventricle 

 (iv) ieYe&OeejCe keâes jeskeâves kesâ efueS keâe@hej-šer keâneB hej mLeeefhele keâjles 

nQ ?    1 

  Where the Copper-T is placed to prevent 

pregnancy ? 

14. huewmeWše kesâ keäÙee keâeÙe& nQ ? 2 

 What are the functions of Placenta ? 

15. ‘Oeceveer’ Deewj ‘efMeje’ ceW Devlej mhe„ keâerefpeS~ 2  

 Differentiate between 'Artery' and 'Vein'. 
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16. heÛes ngS Yeespeve keâes DeJeMeesef<ele keâjves kesâ efueS #egõeb$e keâes kewâmes 

DeefYekeâefuhele efkeâÙee ieÙee nw ?  2 

 How is the small intestine designed to absorb 

digested food ? 

17. Glmepeer& Glheeo mes Úgškeâeje heeves kesâ efueS heeohe efkeâve efJeefOeÙeeW keâe 

GheÙeesie keâjles nQ ? 4 

 What are the methods used by plants to get rid 

of excretory products ? 

18. ieYe&jesOeer lejerkeâeW kesâ efJeefYevve heÇkeâejeW keâe JeCe&ve keâerefpeS~ 6 

 Describe various categories of contraceptive 

methods. 

DeLeJee 

OR 

 jeF]peesheme ceW yeerpeeCeg meceemebIe keâe JeCe&ve keâerefpeS~ 6 

 Describe spore formation in Rhizopus. 

S 
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